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GRAPH

(Fully solved for better understanding and to work out easily)

MATHEMATICS

(SAMACHEERKALVI - NEW SYLLABUS)

HARDWORK IS THE BEST WEAPON TO DEFEAT FAILURE

SELF CONFIDENCE +HARDWORK =SUCCESS

IX- STANDARD

PREPARED BY,

A HATA MOHAIDHEEN, M.Sc., B.Ed,,
G.H.S, KONUR, VILLUPURAM

CELL: 9952795956
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EX.NO. 3.10 Page no:124
1. Draw the graph for the following

(i). y= 2X

Points: (-2,-4), (-1, -2), (0, 0), (1, 2), (2 4)
Plot the points on the graph sheet and join them by a straight line

Scale:
X axis : 1 ¢m. = 1 unit

Y axis : 1 ¢c.m.. = 1 unit
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1. (i) y=4x-1
X -2 -1 0 1 2
4x -8 -4 0 4 8
-1 -1 -1 -1 -1 -1
y -9 -5 -1 3 7

Points: (-2,-9), (-1, -5), (0, -1), (1, 3), 2 7)
Plot the points on the graph sheet and join them by a straight line

Scale:
X axis : 1 ¢m. = 1 unit

Y axis : 1 cm.. = 1 unit

Send Your Questions & Answer Keys to our email id - padasalai.net@gmail.com
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1.(iii). y=(3/2)x+3

www.TrbTnpsc.com

X 4 -2 0 2 4

3x -12 -6 0 6 12
3x/2 -6 -3 0 3 6

3 3 3 3 3

y -3 3 6

Points: (-4,-3), (-2, 0), (0, 3), (2, 6), (4, 9)

Plot the points on the graph sheet and join them by a straight line

Scale:

X axis : 1 ¢c.m. = 1 unit

Y axis : 1 ¢.m.. = 1 unit

Send Your Questions & Answer Keys to our email id - padasalai.net@gmail.com
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1. (iv). 3x + 2y =14, 2y=-3x+14
y=-3x/2 +7

x | -2 | 0 2 4 6
S 6 0 6 | -12 | -18
X2 g 0 3 | 6 | 9
g 7 7 7 7 7
y 10 7 4 1 -2

Points: (-2, 10), (0, 7), (2, 4), (4, 1), (6, -2)
Plot the points on the graph sheet and join them by a straight line

Scale:
X axis : 1 ¢cm. = 1 unit

Y axis : 1 ¢cm.. = 1 unit

Send Your Questions & Answer Keys to our email id - padasalai.net@gmail.com
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2. (). x+y=T7, X-y=3
y=7-X y=X-3

X | -2 | -1 0 1 2 AEIIERE
x| 2l1|o]a]-2 );'3'3333
7 70177 b O M U 0 7

y |98 | 7]6]s y || 413812t
Points: (-2,9), (-1, 8), (0, 7), (1, 6), Points: (-2,-5), (-1, -4), (0, -3), (1, -2), (2, -1)
(2,5)

Plot the points on the graph sheet and join them by a straight line

Scale:
X axis : 1 ¢cm. = 1 unit

Y axis : 1 cm.. = 1 unit

Two straight lines intersect at the point (5, 2)

- Solution: x=5, y=2

Send Your Questions & Answer Keys to our email id - padasalai.net@gmail.com
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2.(i1). 3x + 2y = 4; 9x+6y-12=0
2y=-3x+4
Divide by 3 on both sides
y=-3x/2 +2
3X + 2y - 4=0;
y=-3x/2 +2
x | -4l 2]0]2] 4 x | 4 |-2]0 ]2 4
3% 12 5 0 6 | -12 -3X 12 6 0 -6 -12
3x2| 6 | 3]0 -3 -6 '3’2‘/ 2 2 Z’ g 23 26
2 2 2 2 2 2 g B 5 L 2
y | 8 |5 |21 4 y = g
Points: (-4, 8), (-2, 5), (0, 2), (2, -1), Points:: (-4, 8), (-2,5), (0, 2), (2, -1), (4, -4)

(4, -4)

Plot the points on the graph sheet and join them by a straight line

Scale:

X axis : 1 cm. = 1 unit

Y axis : 1 ¢c.m.. = 1 unit

Send Your Questions & Answer Keys to our email id - padasalai.net@gmail.com

Two straight lines lie on each other.

~ There are infinitely many solutions.
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2.(i1). x/12 +yl4 =1 X2 +yl4 =2
Multiply by 4 on both sides Multiply by 4 on both sides
(x/12) x4 +(y/4) x4 =1 x 4 (X/12) x4 +(yl4) x4 =2 x 4
2X+y=4 2X+y=8
y=-2X +4 y=-2X +8
X | -2 ]1-1]0]1] 2 X -2 -1 0] 1] 2
2x | 4 1210 ]-2]-4 2x | 4 2 0 |-2] -4
4 4 | 4|1 4| 4| 4 8 8 8 8 8 8
y [ 8] 6 ]4]2]0 y | 12 |10 | 8 |6 | 4
Points: (-2, 8), (-1, 6), (0, 4), (1, 2), Points: (-2, 12), (-1, 10), (0, 8), (1, 6), (2, 4)
(2,0)

Plot the points on the graph sheet and join them by a straight line

Scale:
X axis : 1 ¢c.m. = 1 unit

Y axis : 1 ¢cm.. = 1 unit

Two straight lines didn’t intersect each other

~ There is no solution

Send Your Questions & Answer Keys to our email id - padasalai.net@gmail.com
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2.(iv). x -y =0; y+3=0
y=X y=-
X |-2|-1]0] 1] 2 X |-2]-1]0 1] 2
y |-2|-1,0]1]2 y [-3|-3]-3|-3]-3
Points: (-2, -2), (-1, -1), (0, 0), (1, 1), Points: (-2,-3), (-1, -3), (0, -3), (1, -3), (2, -3)
(2,2)

Plot the points on the graph sheet and join them by a straight line

Scale:
X axis : 1 ¢cm. = 1 unit

Y axis : 1 cm.. = 1 unit

Two straight lines intersect at the point (-3, -3)

~ Solution : x=-3,y=-3

Send Your Questions & Answer Keys to our email id - padasalai.net@gmail.com
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2.(v). y=2x+1,; y+3x-6=0

y=-3X+6
X |2|-1]0]1]2 x | 211101 2
2Xx | 41 -2 0|2 |4 -3X | 6 3 10| -3 -6
1 11111111 6 6 6 | 6 | 6 6
y | -3]-1]1]3]5 y 12 | 9 | 6 | 3 0
Points: (-2, -3), (-1, -1), (0, 1), (1, 3), Points: (-2, 12), (-1, 9), (0, 6), (1, 3), (2, 0)
(2,5)

Plot the points on the graph sheet and join them by a straight line

Scale:
X axis : 1 ¢cm. = 1 unit

Y axis : 1 cm.. = 1 unit

Two straight lines intersect at the point (1, 3)

~ Solution : x=1,y=3
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2.(vi). x=-3; y=3
x| -3]-3|-3|-3]-3 X [-2]-1]0]1 2
y |[-=2]-1]0]1]2 3 13| 3 3
Points: (-3, -2), (-3, -1), (-3, 0), (-3, 1), Points: (-2, 3), (-1, 3), (0, 3), (1, 3), (2, 3)

('31 2)

Plot the points on the graph sheet and join them by a straight line

Scale:
X axis : 1 ¢.m. = 1 unit

Y axis : 1 ¢c.m.. = 1 unit

Two straight lines intersect at the point (-3, 3).

-~ Solution : x=-3,y=3
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3) Distance= 100 miles
Speed of first car = x mile/hour

Speed of Second car =y mile/hour

Opposite direction Same direction

Speed of both car = x+y mile/hour; Time=1 hour | Speed of both car = x-y mile/hour; Time =2 hours

Speed x Time = Distance Speed x Time = Distance
(x+y) x 1=100; X +y =100 (x-y) x 2= 100; X -y =50
y=100-x y=Xx-50
X |-20 | -10 | O 10 | 20 X | -20 | -10| O 10 | 20
X 4 | 10 0 L-10§9-20 50 | -50 | 50 | -50 | -50 | -50
100 | 100 | 100 | 100 | 100 | 100
y | 120|110 | 100 | 90 | 80 y | -70 | -60 | -50 | -40 | -30
Points: (-20, 120), (-10, 110), (0, 100), Points: (-20, -70), (-10, 60), (0, -50),
(10, 90), (20, 80), (10, -40), (20, -30)

Plot the points on the graph sheet and join them by a straight line

Scale:
X axis : 1 ¢.m. = 10 units

Y axis : 1 ¢.m.. = 10 units

Two straight lines intersect at the point (75, 25)
- Solution:
Speed of first car = 75 mile /hour

Speed of Second car = 25 mile /hour
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